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ACHARYA VIDYA KULA
QUARTERLY EXAMINATION-SEPTEMBER 2018
CLASS: IX MAX MARKS:80
SUBJECT: PHYSICS (SCIENCE. PAPER - 2) MAX TIME: 2 HRS
GENERAL INSTRUCTIONS:

Answers to this paper must be written on the paper provided separately.
You will not be allowed to write during the first 15 minutes.
This time is to be spent in reading the question paper.

The time given at the head of this paper is the time allowed for writing the answers.
Attempt all the questions from Section I (compulsory). Attempt any four questions from Section II.
The intended marks for questions or parts of questions are given in brackets [ ].

This question paper containg 4 printed pages
SECTION —1I (40 Marks)

Answer all questions from this section

Question — 1
a) How does the result of a measurement of a physical quantity is expressed? Give an
example. [2]
b) What do you mean by:

(i) Least count of an instrument

(ii) Vernier constant [2]
¢) A girl is swinging in a swing in a sitting position. How will the time period of the swing be
affected if she stands up? Give reason for your answer. [2]
d) Write any four characteristics of a standard unit. [2]
) Name two factors on which time period of a simple pendulum depends. 2]

Question — 2
a) (i) When will the magnitude of distance travelled be same as the magnitude of displacement.

(ii) When will the displacement of a body be zero even when distance is not zero? [2]
b) An object is falling freely under gravity draw velocity — time graph and distance — time
graph. 2]
¢) Which physical quantity is obtained from the slope of distance-time graph and

velocity — time graph. [2]
d) Calculate the acceleration of the car starting from rest which attains a velocity of
30m/s in 0.05h. [2]

e) The given figure shows distance-time graph for two objects P and Q moving along the same
direction. Infer which object is moving with a greater speed? And give reason for your
answer. [2]

Question — 3
a) What should be the position of the object when the image formed in concave mirror is
(i) virtual and magnified
(ii) Real and magnified [2]
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b) A man standing in front of a spherical mirror, finds that his image is having a very small
head, a fat body and legs of normal size. What are the shapes of the three parts of the mirror?
Give reason for your answer. [2]
¢) The given figure is an overhead view of two plane mirrors inclined at an angle 8 with the
object O placed between them. How many images of O can be obtained if 6 is equal to

(1) 45° S, ;
(if) 60° 6 N\ 2]
o
d) Magnification of real images is always negative, why? [2]
€) A ray of light is incident normally on a plane mirror. What is the angle of incidence and
angle of reflection? Show it on a diagram. [2]

Question — 4

a) What is biogas? Write any two advantage of biogas. [2]
b) Write any two limitation of generating energy from wind. [2]
c) Identify the forces acting on the body in the diagram given below and draw the force
diagram for the same. [2]
¢
>
d) A boy is running, why is he not able to stop suddenly? Explain. [2]
e) State the law of inertia. [2]
SECTION - 11

(Answer any four question)

Question — 5
a) What do you mean by zero error of a Vernier Caliper? Show by the labeled diagrams to
show negative zero error. [3]
b) A simple pendulum is set up in a laboratory at the sea-level. How would its time period
change if it is shifted to:

(i) Moon

(ii) A deep mine

(iii) A place at Mount Everest

Give reason for your answer. [3]
c) (i) The least count of a Vernier Calipers is 0.01cm and its zero error is -0.03cm. While
measuring the length of a rod, the zero of Vemier scale lies between 5.3cm and 5.4cm and
sixth division on Vernier is in line with a marking on the main scale. Calculate the length of
the rod.

(ii) A second’s pendulum is taken to a planet where the acceleration due to gravity is 4 times

that on the earth. What would be the time period of the pendulum on the planet? [4]

Question — 6
a) Derive the equation of motion — S = ut + % at’ 3]
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b) A bullet initially moving with a velocity of 20m/s strikes a target and comes to rest after
penetrating a distance 10cm in the target. Calculate the retardation caused by the target. [3]
¢) A train starts from rest and accelerates uniformly at a rate of 2m/s” for 10sec. Then it is
maintained at a constant speed for 200sec. Draw a velocity-time graph and calculate the total
distance travelled by the train. [4]

Question — 7
a) (i) When two equal and opposite forces act on a stationary body will the body experience
action and reaction? Give reason for your answer.

(ii) What will happen to body when two equal and opposite forces acts on the body? [3]
b) (i) Why does a ball thrown vertically upwards in a constantly moving train, came back to
the thrower’s hand?

(ii) When the branches of the tree are shaken the fruits fall down. Why? [4]
c) ‘More the mass, more difficult it is to move the body from rest’. Explain this statement by
giving an example. [3]

Question — 8
a) (i) Two objects A and B have same temperature will both object have same amount of
heat? Give reason for your answer.

(i1) What is Thermal Equalibrium. [3]
b) (i) Name the physical quantity which is responsible for flow of heat. Explain how?

(i) What is anomalous expansion of water? [3]
¢) (i) Draw the graph of variation of density of water when cooled from 10% to 0°.

(i1) Explain how acquatic animals survive under water during very cold weather. [4]

Question — 9
a) (i) Complete the ray diagram and locate the position of image and write its characteristics.
(ii) Name the points A, B and C. [4]

b) Wy concave reflectors are used in head light of vehicals? Explain by drawing ray

diatgram. [3]
¢) An object is placed at a distance of 48cm in front of a concave mirror of focal length 24cm
find the nature and position of image formed. [3]
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Question — 10
a) Write down the type of motion of a body during A O B in each of the following graph. [2]

) Tk 'ﬁ o .

b) A ball is thrown vertically upwards with an initial velocity u. Draw velocity time graph for
Maximum height reached and returning to the starting point. [1]
c) A car travels with a uniform velocity of 30m/s for 5sec. The brakes are then applied and
the car comes to rest with a uniform retardation in a further 10sec. Find:

(i) the acceleration in the first 5sec.

(ii) The distance travelled in the first 5sec

(iii) Retardation produced in the last 10 sec. [3]
d) (i) Write two characteristics of non-contact forces.

(ii) If the separation between two masses is increased by twice how does the magnitude of

gravitational force is affected? [4]
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